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04 QIZFHALAIH E = 120,000 120,000 0
OZ=E MEMIUH XA 120,000, 000& 120,000
AMOIHAZ2ZDII10HE XI& 20,000 20,000 0
307 21201 A 20,000 20,000 0
04 QIZFHALAIH E = 20,000 20,000 0




fAM: 2=
Mo YSAE
& daHs |4 (&)
(o
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
©2022@ AUAZ 2D K& 20,000,000 20,000
MEHs0s XA 180,200 190,200 A 10,000
307 glz2+ol & 180,200 190,200 A 10,000
02 QIZtE M AHE X 180,200 190,200 A 10,000
OZte MBS &28FH NI (E=H)
12,000, 000& 12,000
OM33al & MEHMSHS &=&8FH XA
120,000, 000& 120,000
OMENE S=SE FH 2L XA
5,000,000& 5,000
OMEMESX A 4l XN (HRMHLH])
43,200,000& 43,200
HEHszds =4 N 60,000 50,000 10,000
307 glz2tol & 60,000 50,000 10,000
02 It M AHE X 60,000 50,000 10,000
OMBANMSZH S XS
50,000,000& 50,000
OZ=Z YEM=sUa FH X
10,000, 000& 10,000
dEds 2208 X2 14,411 14,411 0
< 3,525
Al 10,886
307 gl2tol & 14,411 14,411 0
< 3,525
Al 10,886
02 It M AMHEE 14,411 14,411 0
oMaixs T2 29 14,411,000& 14,411
< 3,525
Al 10,886
MEHS WA 15,154 15,154 0
< 3,864
Al 11,290
307 glz2+ol & 15,154 15,154 0
< 3,864
Al 11,290
03 QIAHMNHE2IHIEE 15,154 15,154 0
odar=sus 2 15,154,000& 15,154
< 3,864
Al 11,290
ool Mesotel s NA 5,550 5,912 A 362
< 2,775
Al 2,775
307 21201 A 5,550 5,912 A 362
< 2,775
Al 2,775




EX: S3Hs
HH: RS
ool MEIS S4 CER-ED
5 - 4
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
03 QIZI X EHESIEHIEX 5,550 5,912 A\ 362
OHMC M=EsOte &5 5,550,000 5,550
= 2,775
Al 2,775
oM E 243 XS 49,500 45,300 4,200
307 gizto| A 49,500 45,300 4,200
02 QI2tAAMAIE E =X 39,500 45,300 A5,800
034 =012 dsts & FH A
4,000,000& 4,000
Ok &HoHe MEH=sdg =& 24 XA
10,000,000 10,000
034 =012 E2is & AFH XN
3,000,000& 3,000
OXFOMC &M &=& AUl XN
1,000,000 1,000
OO AtOI2UE =& &2Hl X&A
1,000,000 1,000
OLlAMd0tH &= 29 A&
10,000,000 10,000
OAlZ EOQ MEMESUHI &2& FH XN
4,000,000& 4,000
O&= =02 HOIE=Z g && &Hl N3
1,500,000 1,500
oYY HEHY s HLULSA 22 X3
5,000,000& 5,000
04 CIZ2tSHALALS B X 10,000 0 10,000
OZOHCI Y & oSt AlAZ2DI03 XS
10,000,000 10,000
Bt MEH XS XA HE X 177,848 173,808 4,040
J| 88,924
Al 88,924
307 2iz2to| A 177,848 173,808 4,040
J| 88,924
Al 88,924
03 IZIHHEHESIEHIEX 177,848 173,808 4,040
oLt MEH =X A Hi X 148,206,000 148,206
Dl 74,103
Al 74,103
OsA4dE MEHFAZA I 29,641,200 29,642
J| 14,821
Al 14,821
HEA MESH=sX =X B X 177,848 173,808 4,040
J| 88,924
Al 88,924
307 2iz2to| A 177,848 173,808 4,040
J| 88,924




Z M = ot
HN=dE
MEHE 24 7lEE)
= _ — d =
SA - B (SH) - MRAY - BYS e 2
Al 88,924
03 It HERZ2 L 177,848 173,808 4,040
OZd MEHMEAST A BIXI 177,847,200 177,848
J| 88,924
Al 88,924
EAZXEY 2% N 396,000 402,250 A6,250
307 glztol & 396,000 402,250 26,250
02 QIAFAANFEX 366,000 377,250 211,250
OAZ=2g 29 A& 270,000,000 270,000
Od+==s4E FHH 20,000,000& 20,000
OMIBAZZSHINCKH =H N (HHMA
gl) 36,000,000& 36,000
OAgAZolsdl 30,000,000& 30,000
Od=AZXSH 10,000, 000& 10,000
03 2IAHHEHEZ S 30,000 25,000 5,000
OMBAZ=ZH 30,000,000& 30,000
AEIARH 0IEA X 172,000 96,000 76,000
J| 120,400
< 15,480
Al 36,120
301 LEeBAF 172,000 96,000 76,000
J| 120,400
< 15,480
Al 36,120
01 M28E +06l= 172,000 96,000 76,000
OArzZ=2% 0l8A 172,000, 000& 172,000
J| 120,400
=) 15,480
Al 36,120
ol MEMSA =X B X 132,965 86,904 46,061
J| 59,282
Al 73,683
307 glz2tol & 132,965 86,904 46,061
J| 59,282
Al 73,683
02 HAFHANEEE 14,400 0 14,400
OZOHQ M sSHl K& (MM
dl) 14,400,000& 14,400
03 It HE2 L 118,565 86,904 31,661
OZOMQ MEMFX 118,564,800& 118,565
J| 59,282
Al 59,283
el AX =23 ol2d N2 60,350 39,040 21,310
J| 42,245
=) 5,432




Z oM =t
HN=dE
MEHS |4 (el:de)
SN FE - EA(SA) - MRAY - BES il Bl RE2
Al 12,673
301 Lt 60,350 39,040 21,310
J| 42,245
< 5,432
Al 12,673
01 M2 EH 60,350 39,040 21,310
OEoH el g3 X
60,350,000 60,350
J| 42,245
< 5,432
Al 12,673
=2HEASH 29 206,250 0 206,250
J| 165,000
Al 41,250
307 glz2+ol & 206,250 0 206,250
Jl| 165,000
Al 41,250
02 2IztH &t 206,250 0 206,250
©20224 SH 23 XN
206,250,000& 206,250
J| 165,000
Al 41,250
A5 Y AZIOHA , 755,890 2,891,390 A 135,500
< 27,760
Al , 728,130
e 634,000 634,000 0
< 27,760
Al 606,240
301 et A 634,000 634,000 0
< 27,760
Al 606,240
s - g2 634,000 634,000 0
OAMNEAIEO X = 634,000,000 634,000
< 27,760
Al 606,240
HELUEANM = 95,000 90,000 5,000
201 Let24E] 10,000 10,000 0
03 #A2H 10,000 10,000 0
od= & HAH 2
10,000, 000& 10,000
307 glz2+ol & 85,000 80,000 5,000
04 BI2HSH At 85,000 60,000 25,000
OX=H gt K&
10,000, 000& 10,000
OM=sd Mz ZH X
15,000, 000& 15,000
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2N
X ZH -
L= B
el

_ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Od2(Z)HAUts X M= 20,000,000 20,000
o4 HSHEAH(Ua)EA4 X 20,000,000 20,000
o2 ()3 XL g AH| X
20,000,000 20,000
CoOHEHs XA 482,000 482,000 0
307 212t0| & 482,000 482,000 0
02 QIZHBAAIE 2 X 482,000 482,000 0
OFOHME =8 S3dd R (L)
70,000,000 70,000
OF0HME SEH=E=2Y Edd NI (Ds)
70,000,000 70,000
OEQME ESEEH L AZE 12H|
10,000,000& 10,000
OEQIMN &s&83H & 170,000,000 170,000
OZ0IXN™ UMK A2 XA 12,000,000& 12,000
OEQHN 8 44Ul XN
130,000,000 130,000
OE0IHAE HIE &a X 20,000,000 20,000
stniE 4 370,000 861,500 A 491,500
308 XAHXIEHMSOIA 370,000 861,500 A 491,500
08 W=sJl&otistE = 370,000 861,500 A 491,500
ODHS FHES Y £ -5 2 252 X
2 290,000,000& 290,000
odY = -8 MUz & AU XN
10,000,000& 10,000
OnNEHI = - =M SEHNEUHI XA
10,000,000& 10,000
Oxssnw £=dua 50,000,000 50,000
OMIEZZANSSW SEF S3WFE AFEH|
X & 10,000,000 10,000
A CCH M=gs g4 518,890 518,890 0
307 2iz2to| & 363,890 363,890 0
03 QIZIHEHAESIGHIEX 363,890 363,890 0
OAIEAIEO M =RZ Q124H K&
46,833,000 46,833
OAIEAIEOMA M =RE 2HH K&
10,000,000& 10,000
OAIEAM=Z o124Hl K& 277,057,000 277,057
OMIEAM=ESE 2EH X3 30,000,000 30,000
308 AHXIEHSOIA 155,000 155,000 0
1 BI2SHUeEAMNERAE A S| 155,000 155,000 0
OAEALXHMEH £9& 244 X
155,000,000 155,000




fAM: 2=
Mo YSAE
o9l MSNE L AERX0IHE CERED
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
dXEH KX 20,000 20,000 0
307 gl2tol & 20,000 20,000 0
02 It M AHE L 20,000 20,000 0
O&XEdE |XAH XA 20,000,000& 20,000
HuUAssO H2AU2 X 16,000 0 16,000
307 glz2tol & 16,000 0 16,000
04 DIZHEHALAFRI B X 16,000 0 16,000
©2022 8= 32 HUAMS XA
16,000, 000& 16,000
UAESECH dIMANEIN el 10,000 10,000 0
307 gl2tol & 10,000 10,000 0
04 QIZFH AL AR 2 & 10,000 10,000 0
ON 1438 AT AIZH AE=SSEet B MATA
H el N 10,000, 000& 10,000
d=IH=ct0lY Ual K& 10,000 0 10,000
307 21201 A 10,000 0 10,000
04 DIZFBHALAIRI B X 10,000 0 10,000
©2022 &= IHei=ct0lE CHal XA
10,000, 000& 10,000
St XA 5,000 10,000 A5,000
307 21201 A 5,000 10,000 A5,000
04 DIV ALAIRI B X 5,000 10,000 A5,000
OHM143 MEAIEH St X M43 &4 E
& HIEHM XI& 5,000,000& 5,000
= HAAT XSG K& 20,000 0 20,000
307 21201 A 20,000 0 20,000
04 QIZFHALAIH B = 20,000 0 20,000
©2022 8= HAAZL=[H3 K&
20,000,000& 20,000
nsstw AZ=F0tel e MsUs X3 25,000 25,000 0
307 glz2+ol & 25,000 25,000 0
04 DIZHEHALAFRI B & 25,000 25,000 0
OHM198l MEAIEIN(SLUMAE EX 4 HY)
NEsW ATxS0tel g MEsUa X
25,000,000& 25,000
d= 2% s K& 30,000 20,000 10,000
307 21201 A 30,000 20,000 10,000
04 QIZFHALAIH B & 30,000 20,000 10,000
OAHAEH d2Hs d=R=UXA
30,000,000& 30,000
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M 23HA
|

=
dH: M=dS
¢el: MsE 2 AZX0HAE (=& &)
SAE]
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
CHEtRHH S 3 &I M= EBaE tHal K& 270,000 0 270,000
307 2I2tol A 270,000 0 270,000
04 DIZFSHAFAIE 2 X 270,000 0 270,000
ORM522 UStEHH =SB &I B2 SHHHE EH
ASE g X 270,000,000& 270,000
M= Ot0F HtSUs K& 20,000 0 20,000
307 2I2tol A 20,000 0 20,000
04 DIZFSHAFAIE 2 X 20,000 0 20,000
OXF= ot0t HISU & X< 20,000,000& 20,000
=2 24 U X 30,000 0 30,000
307 2I2t0l A 30,000 0 30,000
04 DIZFSHAFAIE &2 X 30,000 0 30,000
OM123 SN SHZSH 2 HEHSIEZS
& Ua X 30,000,000& 30,000
MA=sAHY 3CH3 s+ U3 200,000 0 200,000
307 2I2t0l A 200,000 0 200,000
04 DIZFSHAFAIE 2 X 200,000 0 200,000
©2022 FIBA 3CH3 Challenger Sacheon
200,000,000 200,000
HESAE &5 22 10,116,135 11,134,623 1,018,488
J| 1,700,000
(== 282,000
Al 8,134,135
MEA ey IUMSHdH HE 7,469,200 5,000,000 2,469,200
J| 1,700,000
< 250,000
Al 5,519,200
401 AlEBI L 20HYI 7,469,200 5,000,000 2,469,200
J| 1,700,000
< 250,000
Al 5,519,200
01 Al &bl 7,464,200 4,995,000 2,469,200
OAMEA HdEUIE IUMSHH AHAE
7,464,200,000& 7,464,200
J| 1,699,000
(== 249,700
Al 5,515,500
03 AIE 2 0H bl 5,000 5,000 0
OAIEAl Metd=s IUMHSMAEH HE
5,000,000& 5,000
J| 1,000
< 300
Al 3,700
SEMENSAE =4 1,000,000 2,000,000 A 1,000,000
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2N
X ZH -
L= B
el

23 M s
Iﬂt‘? [E=3

SA - BB B () - MM - BES Ol &t o San HmEET
T AEHZXEUY 1,000,000 2,000,000 A 1,000,000
01 A& HI 1,000,000 1,995,000 A 995,000
O88 MENSAE ZEAY
1,000,000, 000& 1,000,000
NEZ Eg=2st3d =4 80,000 1,400,000 A 1,320,000
401 AIEHIZL 2 0] 80,000 1,400,000 A 1,320,000
1T A& HI 80,000 1,400,000 A 1,320,000
ONE =SEEEH =&AMY 80,000,000& 80,000
HsAE 2el 1,136,935 1,094,623 42,312
101 @124 Hl 155,435 188,123 A 32,688
04 J1ZtHNZ22 s 155,435 188,123 N 32,688
OSUMSEAIE S3EH AR
73,2803 x2H 50 7,328
Od2LUMN=E3R 33 URY
73,2803 x2H +30 4,397
OZSHENSANE SZEH 9FY
73,2803 x2H+90 13,191
OZE2SH FH I 22Y
73,2803 2100 14,656
OMEZd 2e(Sstis3d sZH=SSE)
73,2803 x2H 40 5,863
OZ3SHSsAL2e JI2HMIZ 2 2]
73,2803 x4H 275 80,608
O=3HESAL2E JIAH2 2R =FH>E
73,2803 x4H 60 17,588
OZ3SHSAL2e JIAMNI 2L A2A=H
13,7403 x4 120 Al 2+ 6,596
OZ3SHSAL2e JIAN2 2L 4HEES
5,208,000 5,208
201 £B-2d| 427,500 410,500 17,000
01 At 22l 100,500 103,500 A 3,000
OsUMSESANE A28 7Y 3,000,000& 3,000
OZEHSAE 22EE ¥ 4,000,000 4,000
OMsz - 28T ZclARH =&l
4,000,000 4,000
OZSSHESAE M= FAH 2,000,000& 2,000
OoHY AIBE E TVdlE 2,000,000& 2,000
OZSSHSAE st AMES 2
4,000,000& 4,000
O&EIILHl et ze Ed+32 27,000,000& 27,000
OAYL dae 8d+=+= 16,000,000 16,000
OsdIl |X&He a2 7,000,000& 7,000
ORZH FX&el A== 15,000,000& 15,000




AN 23HSD

3 MEE

S MSAE =5 22 (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OZSHEALE 228 YA 22|
10,000, 000& 10,000
o=l 2,000,000& 2,000
O&F=J Xz 4,500,000 4,500
02 =224l 327,000 307,000 20,000
OZSSHESAE RS 260,000, 000& 260,000
OZEHMSEAE o=k 23 10,000, 000& 10,000
OZ2SHSEANLE S3HHEE 7L
10,000, 000& 10,000
O&I| - AtorM 2| X &3l 500,000& 500
O&JI| - JtA - 520 HIIEAM =2
1,000, 000& 1,000
O =l 4,000,000& 4,000
OZSSHESANEE 218 =4 20,000,000& 20,000
OZSHESANE SE2IAM2E | E=
15,000, 000& 15,000
OoO2EIE RFH 4,000,000& 4,000
o=nEXE U 2,500,000& 2,500
206 M= Hl 29,000 29,000 0
01 =4l 29,000 29,000 0
O=3HSAE A & LAY 7
12,000, 000& 12,000
OZBSHEANE =88 UM 7L
12,000, 000& 12,000
OXFNE 28 5% L HE 2Y
,000,000& 5,000
307 glz2tol & 200,000 150,000 50,000
05 BIZHRI & 3 200,000 150,000 50,000
OZHUSESEH AR SetBr
200,000, 000& 200,000
401 Al HI X 2018 310,000 247,000 63,000
01 A& HI 310,000 247,000 63,000
OFEZHMESAE A2 FHHISA 50,000,000& 50,000
OMENSAE A2 U ZA
100,000, 000& 100,000
OotA2SJI7 0l4d L &AXSA
50,000, 000& 50,000
OHM=3d & OFAMSAE RANEx HHI
50,000, 000& 50,000
OME - HFTHSZ FIIHHHY 8Y
15,000, 000& 15,000
OMEICMSHEH MEBHHEY SHHH
15,000, 000& 15,000
O2ZFH dEMSAE £X 30,000,000& 30,000
405 XtatE SHI 15,000 70,000 A 55,000

- 22 -




25 2
X XH -
(== B

el

5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 et ESFH S 15,000 70,000 A 55,000
OMNHFRUHMSHE 2517 2
15,000, 000& 15,000
238 HSAE =T & 200,000 600,000 A 400,000
401 Al HI K 201 I 200,000 600,000 A 400,000
01 A& Hl 200,000 600,000 A 400,000
O=gd MSAE =XF =Z 200,000,000& 200,000
HEg & 24 27X RS 7 150,000 0 150,000
201 Let24E] 150,000 0 150,000
01 At 22l 150,000 0 150,000
OM=E & SAME =281 HREE 7
150,000, 000& 150,000
AHEIEEHSSE W X220 SM(e =UEA 80,000 0 80,000
&)
< 32,000
Al 48,000
401 AIEHI L 2 CHYI 80,000 0 80,000
< 32,000
Al 48,000
01 A& tl 80,000 0 80,000
ONHEZHSSHE Uf 220 &x
80,000,000& 80,000
= 32,000
Al 48,000
HE2LAZH(2SH=S) 115,600 101,680 13,920
Jl23l 115,600 101,680 13,920
JlE2&l 115,600 101,680 13,920
201 L4l 9,000 9,000 0
01 At 22l 9,000 9,000 0
O eIl 9,000,000& 9,000
202 44l 97,440 83,520 13,920
01 S LHOIYI 97,440 83,520 13,920
O2UHEF NI 280,000& 29K x12& 97,440
203 YR =&l 9,160 9,160 0
01 122 =4 4,000 4,000 0
o2sAz= 24 4,000,000& 4,000
04 EA2IYRFLH 5,160 5,160 0
ORN2ELE=AHI 430,000& 123 5,160
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